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Length — Area — Volume

Section 6.1 Revision

Area
_ BL = 1712
% 4e e A= = @A r
T )
v
— L mrth — ], V=Tl
4 V', LBH Vg_"’ L
() 3 CsA=nr
L CSA=Trk

Q VD heor o

1. Trapezium

(Example 1 )

If a parallelogram has a base of 10 cm, xc?m
and a trapezium of the same area

and height has a base of 14 cm, height h
find x, the length of the other

parallel side of the trapezium. 10cm 14 cm
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2. Polygons

-(Example 2 )

The area of the regular pentagon shown here is 600 cm?.
Calculate the length of one side, x, of the pentagon.
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13. A regular hexagon is circumscribed by a circle
of radius 5cm. Find
(1) the size of the angle EOD
(ii) the size of the angle ODE
(iii) the area of the hexagon ABCDEFA.
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14. A composite design of polygons is shown.

(i) Find the sizes of the angles a, B. 6
(ii) If the square has a side of 4 ¢m, find the

area of this composite shape correct to
one place of decimals.
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